
Activity Five: Technology

INDIVIDUAL REPORT

Many believed that the military terms of the armistice made the resumption of hostilities
virtually impossible for Germany. Do you agree with this assumption? Why or why not? In
your response, provide a brief discussion of Germany’s WWI technological capabilities and
incorporate information regarding the Articles restricting the German military.

Evaluation Criteria
• Takes a position on weather or not the military terms of the armistice made the resumption of

hostilities virtually impossible for Germany
• Uses concrete examples from the resource cards to support the taken position.
• Include at least three examples of Germany techno-logical capability during WW1
• Demonstrate a clear understanding of the restrictions placed on the Germany military by referring to

the Articles from the Treaty of Versailles to support the position taken.
• Explains how technology contributes to the cost of war and the price of peace.
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Activity Five: Technology
EC Exceeds the EC Meets the EC’s Progressing toward

the EC’s
Minimally
addresses EC’s

Takes a position on
weather or not the
military terms of the
armistice made the
resumption of
hostilities virtually
impossible for
Germany

(28%)

Takes a position on
weather or not the
military terms of the
armistice made the
resumption of
hostilities virtually
impossible for
Germany and
discusses the
implications/impact
of this armistice on
Germany’s feature.
(28%)

Takes a position on
weather or not the
military terms of the
armistice made the
resumption of
hostilities virtually
impossible for
Germany. Includes
supporting evidence.

(24%)

Takes a position on
weather or not the
military terms of the
armistice made the
resumption of
hostilities virtually
impossible for
Germany, but does
not provide
supporting evidence.

(21%)

The position on
weather or not the
military terms of the
armistice made the
resumption of
hostilities virtually
impossible for
Germany is unclear
or incomplete.

(17%)
Uses concrete
examples from the
resource cards to
support the taken
position. Includes at
least three examples
of Germany techno-
logical capability
during WW1
(16%)

Uses concrete
examples from the
resources cards to
support the position
taken. Includes more
than three examples
of Germany techno-
logical capability
during WW1
(16%)

Uses concrete
examples from the
resource cards to
support the taken
position. Includes
three examples of
Germany techno-
logical capability
during WW1
(14%)

Uses concrete
examples from the
resources cards to
support the position
taken, but contains
only two examples of
Germany techno-
logical capability
during WW1
(12%)

Examples are not
from the resources
cards. Provides only
one example of
Germany
technological
capability during
WW1

(10%)
Demonstrate a clear
understanding of the
restrictions placed on
the Germany military
by referring to the
Articles from the
Treaty of Versailles
to support the
position taken.

(32%)

Demonstrate a clear
understanding of the
restrictions placed on
the Germany military
by referring to the
Articles from the
Treaty of Versailles
to support the
position taken, and
discusses their
subsequent impact on
Germany
(32%)

Demonstrate a clear
understanding of the
restrictions placed on
the Germany military
by referring to the
Articles from the
Treaty of Versailles
to support the
position taken.

(28%)

Demonstrate an
understanding of the
restrictions placed on
the Germany military
but without much
evidence from the
Articles from the
Treaty of Versailles
to support the
position taken.

(24%)

An understanding of
the restriction placed
on the Germany
military is unclear,
incomplete, or partly
inaccurate.

(20%)
Explains how
technology
contributes to the
cost of war and the
price of peace.

(24%)

Explains how
technology contrib.-
.utes to the cost of
war and the price of
peace with an under-
standing or examples
of how changing
technology has
redefined this issue.
(24%)

Explains how
technology
contributes to the
cost of war and the
price of peace.

(20%)

Explain how
technology
contributes to the
cost of war Or the
price of peace, but
not both.

(18%)

The explanation is
unclear, incomplete
or partly inaccurate.

(14%)
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